0248 20llat EANLHATHIISR

& 200 A2l

o
2 210 ZaEAM =Y

gt 216 Ol k=&l (Bt &)
Z-2.8.5 Ol &F oA & =0l ke Blusz

= Al 15,565,628 21,966,897 26,401,269

200 M2l 52,759 12,837 39,922

210 B4 FAN 2= 52,759 12,837 39,922

216 Ol Xt==¢] 52,759 12,837 39,922

216-01 SZ030IX ==L 50,000 12,000 38,000

< OIAXI 2 > 50,000 12,000 38,000
O33020I X+ 50,000,000 50,000

21602 EXt=8l==0[Xt== 2,759 837 1,922

< OIAX 2 > 2,759 837 1,922
OIS XS0l Xt+=¢ 2,759,150& 2,799

500 23 165,234,420 21,552,600 26,318,180

510 = UEX=S 15,234,420 21,552,600 26,318,180

511 =21ExX=8 15,234,420 21,552,600 26,318,180

511-03 JI= 15,234,420 21,552,600 26,318,180

< OlAXI2 > 15,234,420 21,552,600 26,318,180
OJ1EXd=(erelst) 1,042,800,000& 1,042,800
OSEXAZ(erelstasHRIR) 13,915,520,000& 13,915,520
OJI2XE=(g=354) 106,400,000& 106,400
OJlExgs(toreis) 14,800,000 14,800
OJI2XEs(HAE M=) 4,000,000 4,000
OJIE2XEs(233d) 5,000,000 5,000
OJIEXES(M4SEIAH2LZ) 20,000,000 20,000
OJIEXES(ZHEE L) 19,000,000& 19,000
OJI2XE2(U12d) 10,900, 000& 10,900
OJlEX2s(ZEeed) 20,000,000& 20,000
OJI2XS (ML Scteed) 20,000,000 20,000
OJI2XES(LEH) 6,000,000 6,000
OI=XES(FELSHIOI202) 20,000,000 20,000
OIEXES(FEAMARET) 30,000,000 30,000

700 2EHUSHURHN 278,449 401,460 A123,011

710 E8=US 269,449 381,460 A112,011

711 0= 228,709 330,680 A101,971

711-01 =AAL NS 228,709 330,680 A101,971

< OlAXI2 > 228,709 330,680 A101,971
O=MALHZ 228,709,000 228,709

713 EXlsds+ 40,740 50,780 210,040

713-01 eI2tE X33 =+=E 40,740 50,780 10,040




700 BRSASULLAY
2 710 2ELOS
g 713 sX2R349 ool &)
Z2-8-2 o & o S[EL= I =)
R 40,740 50,780 210,040
OBXIE 23 &= 40,740,002 40,740
720 LIS D1 cH 9,000 20,000 211,000
722 et =LH =3 9,000 20,000 211,000
722-04 OIlE S0l Xt 9,000 20,000 211,000
< OILATIDE > 9,000 20,000 A11,000
OSSWHAHEIIZ (=S 014+
9,000,002 9,000




